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(1) +250 (2) + 350
(3) + 450 (4) <+ 5560
(5) Fgwica w¥

‘FaT § 9 YHN F IEE (3E) W
mﬁﬁ%:

(1) weE (2) Afeaet %1 gy
(3) T HIEH (4) TE

(5) ¥ 5o

fift fefreor wfirm # @ wEed #
yefifea = & f= 4 2 e o wa
ST R ?

(1) -4 °CH 29 °C
(2) —32°C® —40 °C
(3) 0°CA-3°C
(4) —-3°C&-10°C
(5) Fgaia 5

Feft-1 # fa m g anme wee Tt
&1 et~ 11 # fou weil & farem &1

-1 -1
a. fbem i efifam
(arsft)

b. wirifEE i, g=w
Fh-3h iii, wedeR gt

o

d. & iv. T
v. EAdl
BT
a b ¢ d
(D -«v. 1 1 i
(2.4 v w1
(T A AT ¢ A i A |
£ S TR TR | S
(5) rFwia ¥

According to ICMR (2020), the
additional per day energy
requirement of a pregnant women is :
(1) +250 (2) +350

(3) + 450 (4) + 550

(5) Question not atteni?‘f}ed

Following is an exampleof ‘water in
oil’ type of emulsion : O

(1) Butter (2) Coeéhut milk
(3) Cow’s milk (4) Mayonnaise

(5) Question not attempted

In slow freezing, foods are placed in
refrigerated rooms at a temperature
of ™

(1) —4°C to-29 °C F;
(2) -82°Cto—40°C 7
(3) 0°Cto-3°C o
(4) -83°Cto-10°C N
(5) Question not attempted

Match the nutritional deficiency
diseases from List-l with their
symptoms in List-II :
List-1 List= II
Rickets i. Delifium
Fluorosis Nu.n:{;aess
Beri-beri iii. Mottled teeth
Pellegra iv. Nightblindness
v. Kyphosis

o op
!:::

Codes :

a b ¢
A T S
2 i v v
3 v i iv
L 1 I (e |
(6) Question not attempted

e e :: n.
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(1). NFSM (2) NTTM

(3), NCEF (4) GIM
Eﬁjmgﬂﬂam

P &1 X T & I HIR e T
Wl Brea & 2

(1) F9 @) &=

(@) 3 (4) wiferes

(5) gl ¥

e 3 Fore U= 1 92 a6 S A 8 7
(1), e (2) ST

(8). 79| (4) afHerTg

(&) e s

Fieferfiam # & @ a1 e g @
FewerEe o fm & 7

(1) BTRA (2) SITRA

(3) ATIRA (4) NITRA

(5) A ¥

o a1 aftas 4, w92 &) 2 sa=R =
saud fFufiagmaad=rame?
(1) wrafon (2) wETE

(3) sfmfn (4) F=fn

(5) T weH

—— e e e - —— e — =

Which synthetic fibre is commonly

known as cashmilon ?
(1) Polyester (2) Nylon
(3) Acrylic (4) Spandex

(5) Question not attempted

Which of the following is a
funetional finish ?

(1) Mercerization

(2) Antimicrobial

EE) Napping .

4) Ultraviolet protection

(56) Question not attempted

Which of the following mission
promotes technical textiles of India ?
(1) NFSM (2) NTTM

(3) NCEF (4) GIM

(6) Question not attempted

Which fibre leaves a hard black
coloured bead after burning ?

(1) Cotton (2) Rayon
(3) Wool (4) Polyester
(5) Question not attempted

In which Indian state patola fabric
is made ?

(1) Bengal (2) Uttar Pradesh
(3) Gujarat (4) Tamil Nadu
(5) Question not attempted

Which of the following Textile
Research Association is situated in
Ahmedabad ?

(1) BTRA (2) SITRA

(3) ATIRA (4) NITRA

(5) Question not attempted

In which mechanical finish, the
fabric is stretched between two
parallel chains with clips ?

(1) Moireing (2) Embossing
(3) Schreinering (4) Tentering
(5) Question not attempted
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13.

14.

15.

16.

17.

13.
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(1) 30° (2) 45°

(3) 60° (4) 170°

(5) 3w we

g1 Jaftreh 1T & o g ufta e w A
T8 T 9747 &, 79 FEenar &

(1) g (2) JeTm

(3) wra Tmg (4) Yz o

(5) NG W
:@%mmaﬁwmﬁ!ﬁm
5

(1) A= (2) s =R
3) frafemms (1) IF TG
(5) Irgeia ¥

i sR o Tam e T e R ?
(1) 2Fm (2) @mté

(8) e (4) werH

(5) FFTRE ¥
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HATR ?

(1) wicliferepma  (2) Hicage

(3) e (4) Hge

(5) FTANE 9

ATeTe ! Qe 1 Iedare e &

(1) NmEEd  (2) Efemd

(3) uftfermred  (4) wRvEH

(5) a9

HIF 1, 72 | TEd, 9 8 F9 200%
o fEamwar 2 ?

(1) ¥ (2) tm
(3) B2 (4) TR
(5) Fgvia 5=

12.

13.

14.

15.

16.

171

18,

At what angle, a true bias is formed
between the length and width of a
fabric ?

(1) 30° (2) 45°

(3) 60° (4) 70°

(6) Question not attempted

A garment made of two or more
fibres, when dyed with one solid
colour is called

(1) Union dyeing (2) Jet dyeing
(3) Cross dveing (4) Pad!dyeing
(5) Question not attempted

Right side of the fabric is identified
by by

(1) more shine (2) morefloats
(3) dull design (4) more rough
(6) Question not attempted

Which of the following is a balanced
plain weave fabric ?

(1) Denim (2) Organdy

(3) Gabardine (4) Flannel

(5) Question not attempted

Polyester blended with éstton is
called as 'E-;_;

(1) Poly viscose (2) Catﬁﬁp{}l
(3) Terrycot (4) Terrywool
(5) Question not attempted

Baluchari sarees are produced in
(1) Aurangabad (2) Gwalior

(3) Murshidabad (4) Maheshwar
(5) Question not attempted

Which fibre can be stretched atleast
200% before they break ? , ~

(1) Hemp (2) Silk

(3) Spandex (4) Asbestos

(5) Question not attempted
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19.

20.

21.

22,

23.

24'

25.

26.

Muga and Eri are types of which
fibre ?

(1) Cotton (2) Wool

(3) Silk (4) Nylon

(5) Question not attempted

Steep, curved and diamond are the

types of which weave ?
(1) Plain (2) Twill
(3) Rib (4) Satin

(5) Question not attempted

Which fibre is termed as “Magic
fibre” 7

(1) Wool (2) Linen

(3) Nylon (4) 8Silk

(5) Question not attempted

“Kalamkari” textile craft is from
which state ?

(1) Uttar Pradesh

(2) Andhra Pradesh

(3) Rajasthan

(4) West Bengal

(5) Question not attempted

Scouring process is done on

(1) Cotton (2) Wool

(3) Silk (4) Terylene

(5) Question not attempted

A loom, where picking is done by a
sword like device, is called

(1) Rapier loom (2) Shuttle loom
(3) Water jet loom (4) Air jet loom
(6) Question not attempted
Perspirometer is used to test the
colour fastness to

(1) Light (2) Rubbing

(3) Sweat (4) Washing

(5) Question not attempted

Which dye is also called as “Ice
colours” ?

(1) Acid dyes (2) Mordant dyes
(3) Basic dyes (4) Azoic dyes

(5) Question not attempted
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27.

28.

29.

30.

314

33.
|

The process of separation of seeds
from cotton fibres is known as

(1) Ginning (2) Spinning

(3) Retting (4) Combing

(5) Question not attempted

Horizontal row of loops which runs
perpendicular to the length of

knitted structure is called
(1) Course (2) Walen
(3) Stitch (4) Loop ™

(5) Question not attempbed{
Which of the following is a iir.’ﬂnary
property of a fibre ? L

(1) Physical shape (2) Luatre

(3) Strength (4) Elasticity

(56) Question not attempted

Cross-stitch in Kasuti embroidery is
called

(1) Minakari (2) Mutwa

(3) Munia (4) Menkh:,

(5) Question not attempted...

Taipchi, bakhia, murri and }ah are
the different styles c-f whmh
embroidery ?

(1) Phulkari (2) Ch]kaiﬂmn
(3) Kantha (4) Kasuti

(6) Question not attempted

The measure of yarn strength in
gms/denier is called

(1) Tenacity (2) Yarn count
(8) Yarn twist (4) Flexibility
(5) Question not attempted

Which fibre can replace vgo:ﬂ for
warmth ?

(1) Cotton (2) Nylon’
(3) Jute (4) Acrylic’
(5) Question not attempted
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35.

36.

37.

Limit of sustained effort for healthy
individual is

(1) 30 working pulses

(2) 50 working pulses

(3) 120 working pulses

(4) 60 working pulses

(6) Question not attempted

The correct sequence of steps in

making a time-activity plan —

a. List all activities to be done

b. Estimate the accurate time
needed to do the activity

c. Estimate of the available time

d. Write down the plan

e. Balance the estimate
accurate time needed

f. Co-ordinate the plan with
others, if needed

(1) a,b,c,e,d, f

(2) a,b,c,d, e, f

(3) a,¢c,d, e, f, b

(4) a,¢,b,e,d, f

(5) Question not attempted

and

The user-machine interface design

in the systems design process is a

combination of

(1) Human and hardware

(2) Human and software

(3) Objectives and functions

(4) Objectives, software
hardware

(5) Question not attempted

Clinging of clothes to the body is due
to which property of fibre ?

(1) Lustre

(2) Strength

(3) Abrasion resistance

(4) Electrical conductivity

(5) Question not attempted

and
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39.

40.

411

42.

43.

Floor plans are

(1) 2D, drawn to scale

(2) 2D, not drawn to scale
(3) 3D, drawn to scale

(4) 3D, not drawn to scale
(6) Question not attempted

VO2 max can be regarded as an
indicator of

(1) Physical stress

(2) Mental stress

(3) Psychological stress

(4) Temporal stress

(6) Question not attempted

Upper limit of a storage area should
be

(1) minimum height tolerable to
shortest user

(2) maximum height tolerable to a
tall user

(3) maximum height tolerable to an
average user

(4) maximum height tolerable to a
shortest user

(6) Question not attempted

Which of the following is a part of
human resources ?

(1) Interest (2) Food

(3) Park (4) Equipments
(6) Question not attempted

Flow of commodities and services
available for the satisfaction of
human wants and needs over a
given period of time is

(1) Real Income

(2) Direct Income

(3) Psychic Income

(4) Indirect Income

(6) Question not attempted

The number of subordinates a
manager can effectively and
efficiently direct is called

(1) Span of control

(2) Unity of command

(3) Centralisation

(4) Decentralisation

(5) Question not attempted

81



45.

46.

47.

48.

81

BIS @ grafaq fimmad +=ig w9 4 et
T B E 7

(1) Foeizd BAwi= Ud Th e feumeie
(2) wweiga v wen= fEardie

(3) H g FreE Ud Tern-e feurdie
(4) F=gm Ferie vE TeE= feudie
(5) Fgafa ¥

= 1 @ #9399 F TER _E
FUT R ?

(1) =T o

(2) wredt IuviEn

(3) e I9HE

(4) =t 9T

(5) T ¥

st T feas Prfteor @ P
FAHAR 7

(1) I weaor At

(2) FTg TeuE F A

(3) S ANEE F A

(4) gEA A ATE

(5) srgeia W

e i a o @ T st w AR 7
(1) Sfgw 33 it gaa

(2) 3ea | FA g

(3) HATEIS gHa

(4) Tafae &R 6t w=o1

(5) v =

HEEHAHEA TG H ET, =,
e, AR N fewe &1 g 99w
CRIGHE

(1) & =1 AR

(2) framm %1 sften

(3) =4+ %1 FfER

(4) g4 F1 FUw

(5) Figwita ¥

44.

45.

46.

47.

48,

Complaints concerning BIS are

recorded centrally at

(1) Complaints management and
enforcement department

(2) Complaints and endorsement
department

(3) Consumer  complaint
endorsement department

(4) Consumer management and
endorsement department

(5) Question not attempted

and

Which of the following is a type of
consumer on the basis of place ?

(1) Commercial consumer

(2) Urban consumer

(3) Conscious consumer

(4) Rich consumer

(6) Question not attempted

The Income Tax department
functions under the supervision and
control of

(1) Consumer Protection Act

(2) Central Board of Direct Taxes
(3) Central Board of Indirect Taxes
(4) Chief Board of Taxes

(5) Question not attempted

Which of the following is not the
quality of an entrepreneur ?

(1) Capacity to take risk

(2) Below average intelligence

(3) Organizing ability

(4) Desire to diversify

(5) Question not attempted

The right to have access to products
of varying quality and quantity,
prices, size and design at
competitive prices and to choose
according to one's requirement is
referred as the

(1) Right to safety

(2) Right to seek redressal

(3) Right to choose

(4) Right to be informed

(5) Question not attempted
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49,

50.

581.

52.

53.

Recommended work surface height
for male standing worker for
precision work is
(1) 109-119 cm
(2) 103-113cm
(3) 78-94cm

(4) 99-109 cm e
(5) Question not attemptaé}ﬁ

Who among the follo T are
associated with the congept of
“Entrepreneurship” ?

A. Richard Cantillon

B. Lionel Robbins

C. Adam Smith

D. Jean Bapstite Say

E. Joseph Schumpeter

(1) A,B,C,D (2 B,C,D,E

(3) AB,C,D,E (4) A,C,D, E

(5) Question not attempted

L)

Crucial decisions with and
long term consequences for the
decision maker are called

(1) Central decisions -

(2) Satellite decisions -
(3) Non-satellite decisions
(4) Tactical decisions

(5) Question not attempted

Psychological fatigue is caused by
(1) Peak load

(2) Boredom and frustration

(3) Unhealthy environment;
(4) Lack of rest oy
(5) Question not attempted :‘Ej

A self-declaration douum%ﬁl{_; for
registration of MSMEs is

(1) Udyog Aadhar Memento

(2) Udyog Aadhar Memorandum
(3) Udyog Utpad Memorandum

(4) Utpad Aadhar Memorandum
(5) Question not attempted
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54.

a5.

56.

57.

a8.

The Principle of Management that
“In union there is strength” is called
as

(1) Scalar Chain

(2) Equity to Gain

(3) Stability of Tenure

(4) Esprit De Corps

(5) Question not attempted

Long term and working memory
come together in the decision
making process in

(1) Stimuli

(2) Sensory store

(3) Decision and response selection
(4) Perception

(6) Question not attempted

Lewin's three step change model is

(1) Unfreezing, Movement,
Refreezing

(2) Coercion, Cooptation,
Motivation

(3) Restraining, Constraining,
Reframing

(4) Refraining, Reframing,
Cooptation

(5) Question not attempted

Is ‘body mechanics' controlling steps

of

(1) Work Simplification

(2) Time Management

(3) Energy Management

(4) Resource Management

(5) Question not attempted

Which of the following are the tools
of Time Management ?

A. Peak load

B. Work unit

C. Work curve

D. Rest period

(1) A,B,C,D (2 ACD

(3) A,B,D (40 A,B,C

(5) Question not attempted
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59.

60.

61.

62.

63.

Process chart, Pathway chart and
Operation chart are techniques used in
(1) Erogonomics

(2) Time Management

(3) Work Simplification

(4) Energy Management

(5) Question not attempted

Values that act as means of
achieving one's terminal values are
(1) Instrumental values
(2) Focused values

(3) Evaluative values
(4) Extrinsic values

(5) Question not attempté_:r,j;_

-

NOc K
AS wdf P A

Investment limit in plant and
machinery in respect of tiny
enterprises is

(1) T 5.5 millions

(2) T 12.5 millions

(3) T 2.5 millions LD

(4) ¥ 15.5 millions

(5) Question not attempted.

‘Consumer Day’ was stnrt;:flun
(1) 15 January, 1962

(2) 15 March, 1962

(3) 15 April, 1962

(4) 15 December, 1962 Yo
(5) Question not attempte:':rl":

| il
Work, worker and workplace are
elements of 'y
(1) Time Management
(2) Resource Management
(3) Work Simplification
(4) Energy Management
(5) Question not attempted
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64.

65.

66.

ET.

A field of study devoted to
understanding all aspects of human
growth from conception through
adolescence is known as

(1) Child Development

(2) Developmental Psychology

(8) Human Development

(4) Life Span Development

(5) Question not attempted

The best method to study growth
and development of a child is

(1) Psychoanalytic method

(2) Comparative method

(3) Developmental method

(4) Statistical method

(5) Question not attempted

Which of the following is a principle
of Human Development ?

(1) Personal

(2) Universal

(3) General

(4) Reversible

(5) Question not attempted

The prelinguistic communication of
speech like meaningless sounds at
the age of 2 or 3 months is :

(1) Cooing (2) Crying

(3) Murmuring (4) Babbling

(56) Question not attempted

Change in the working arrangement

and equipment includes —

A. Major equipment efficiently

arranged.

All work surfaces are of

comfortable height and width.

C. Small equipment and food
supply stored nearby.

D. work surface well-lighted.

@) ABCD (2 ABC

(3) A, D,C 4) B,C,DA

(5) Question not attempted

B.
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Down Syndrome, Turner's
Syndrome, Klinefelter's Syndrome
are examples of

(1) Enzyme Abnormality

(2) Hormonal Abnormality

(3) Chromosomal Abnormality

(4) Learning Disability

(5) Question not attempted

The concept of ‘Developmental
Tasks' was defined by :
&1) Robert Havighurst
2) Jean Piaget

(3) ' Sigmund Freud

E4‘,l Erik Erikson Ty
5) Question not attempted ¢ [
The outmost cell layer of the ["hr_vo
from which skin and nérvous
system develop is ey
(1) Ectoderm  (2) Mesodérm
(3) Endoderm (4) Proxiderm
(5) Question not attempted

P

Which of the following statement is
correct for proximodistal law.?*

(1) From head to foot f,:i
(2) From extremities to central+
(3) From foot to head P~

(4) From central axis to extremities
(5) Question not attempted

A technique used for diagnosis of
hereditary disorders like sickle cell
anemia, cystic fibrosis and
muscular dystrophy is called

(1) Amniocentesis (2) Ultrasound
(3) X-ray (4) Optiulﬁ?try
(5) Question not attempted

P
‘APGAR’ scale determines; the
physical condition of
(1) Adult woman
(2) Newborn baby

* (3) Old age person

(4) Adolescent
(6) Question not attempted
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75.

76.

7.

78.

79.

What are Moro, Rooting, Babinski
types of ?

(1) Hand Skills (2) Leg Skills

(3) Reflexes (4) Writing Skills
(6) Question not attempted

ICDS program was started in the
year

(1) 1970 (2) 1965
(3) 1960 (4) 1975
(5) Question not attempted

Primary focus in curriculum
planning for early childhood
education should be on :

(1) Need of community

(2) Need of teachers

(3) Developmental needs of

children
(4) Financial status of the family
(5) Question not attempted

Early childhood is generally
recognized as the period in the age
group of

1 1
(1) 25 - 55 years

(2) birth to 3 years

(3) prenatal to eight years
(4) birth to six years

(6) Question not attempted

Which  period of - prenatal
development is called germinal
period ?

(1) The period of Foetus

(2) The period of Ovum

(3) The period of Infancy

(4) The period of Embryo

() Question not attempted
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81.

82.

83.

84,

Which of the following are the
means of self-expression in
kindergarten method ?

(1) Song, Gesture, Construction

(2) Song, Reading, Drawing

(3) Writing, Reading, Arithmetic
(4) Dancing, Maths, Reading

(5) Question not attempted

A type of attachment characterized

by dazed and contradictory
behaviour towards attachment
figure -

(1) Secure attachment

(2) Disoriented attachment
(3) Interpersonal trust

(4) Friendly attachment
(5) Question not attempted

By whom, the concept of libido’ was

given for the first time ?
(1) Freud (2) dJung
(3) Piaget (4) Erikson

(6) Question not attempted

At which age babies show no
preference for any one person ?

(1) Two to three months

(2) Four to five months

(3) Six to seven months

(4) Nine to thirteen months

() Question not attempted

Different parts of body grow at
different rates and cause
adolescents to appear gawky. This
is called

(1) Secular trend

(2) Asynchronous growth

(3) Colateral growth

(4) Growth spurt

(5) Question not attempted
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85.

87.

88,

89.

Maria Montessori wused which

apparatus in her teaching for

children ?

(1) Sensorial Apparatus

(2) Discriminatory Apparatus

(8) Didactic Apparatus

(4) Discovery Apparatus

(5) Question not attempted T
0o

The idea that even if something is

out of eight, it still exists is c%d

(1) Reversibility o

(2) Egocentrism

(3) Object permanence

(4) Conversation

(6) Question not attempted

Who started the ‘Kindergarten’
system of early childhood education ?
(1) Friedrich Froebel O

(2) Mahatma Gandhi o

(3) Jean Piaget E:T}

(4) Gijju Bhai Badheka -~
(6) Question not attempted “{._,3
‘Childhood Gangs' are a key feature
of social development during :

(1) Early Childhood

(2) Middle Childhood
(3) Late Childhood

(4) Complete Childhood

(6) Question not attempted L
Educational system characterized
by self directed activities and) self
correcting materials developéd in
Europe is known as

(1) Kindergarten L

(2) Montessori school

(8) Play schools

(4) Nursery schools

(6) Question not attempted
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911

92.

93.

B4i

How many levels and stages are
there in Kohlberg's theory of moral
development ?

(1) 4 levels and 2 stages

(2) 3 levels and 6 stages

EBJ 2 levels and 4 stages

4) 3 levels and 3 stages

(5) Question not attempted

Early adulthood falls in the age

up of
H‘JBI‘J 50 years (2) 20-40 ye
(3; 25-45 years (4) 45-60 ye%
(5) Question not attempted L

Which stage is referred to as ihe
time of empty nest 7 )
(1) Old Age

(2) Middle Adulthood

(3) Early Adulthood

(4) Adolescence

(5) Question not attempted

A progressive, degenerative brain

disorder wit. cognitive
deterioration is known as

(1) Depression L

(2; eimer’s disease O

(3) Osteoporosis 5

(4) Mental retardation

(5) Question not attempted M
)

Which one of the following pair is

not correctly matched ?

(1) Shantiniketan - Rabindranath

Tagore
(2) Sevagram - Mr. AT.
Experiment Mosher
(3) Marthandam - Dr. Spencer
project Hatch
(4) Gurgaon — Mr. F.L.
project Brayne
(5) Question not attempted 2.

Which of the following has baen
cunaldered as a period of stress and
storm ?

(1) Childhood (2) Adolescence
53) Adulthood (4) Old Age

5) Question not attempted
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96.

97.

98.

99.

Who is known as the “Father of
Extension work” in the United
States for his efforts to establish
demonstration farms ?

(1) James Stuart

(2) Dr. Seaman A. Knapp

(3) Prof. Holden

(4) Smith Lever

(56) Question not attempted

ICAR started the Labs to Land
Programme (LLP) in

(1) 1979 (2) 1977

(3) 1969 (4) 1984

(5) Question not attempted

Evaluation carried out by the
agency responsible for the planning
& implementation of the
programme is called

(1) Self Evaluation

(2) External Evaluation

(3) Internal Evaluation

(4) Outcome Evaluation

(5) Question not attempted

Which primary indicator is used
under extension monitoring system
to know the number of participants

who attended extension events ?

(1) Understanding indicator

(2; Contact indicator

(3) Testing indicator

(4) Contact indicator & Testing
indicator both

(5) Question not attempted

In India, the teaching of extension
education at undergraduate level
was first started in which college ?
(1) College of Agriculture, Calcutta
University
(2) Bihar Agricultural College,
Sabour
(3) College of Agriculture, Nagpur
(4) College of Agriculture, Punjab
(5) Question not attempted
o
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(2) #fHerz
(4) IR

' s Rt st 3 ita ST R
(1) % =t e feamfaa e |
(2) wTEHH I e HEA |
(3) A T IATEET H |
(4) Teufa = favemo %t |
(5) TG T

o

l

101. A visual aid placed and displayed in
a public place with the purpose of
creating awareness is called
(1) Folder (2) Leaflet
(3) Flash cards (4) Poster
(5) Question not attempted

-
™

“Method Demonstration” is viﬁi’ch
type of communication method ? "’

(1) Individual contact method .

(2) Group contact method A
(3) Community contact method

(4) Mass contact method

(5) Question not attempted

102.

103, Slide projector is based on which
type of projection ?

(1) Direct projection

(2) Indirect projection

(3) Reflected projection

(4) Parallel projection

(6) Question not attempted

Tp

b |

104. Which one of the following statement

is incorrect regarding the role of

moderator in a symposium ?

(1) Outlining the areas to be
covered

(2) Introducing all the speakers »

(3) Presentation of the prep'ﬁfbd
materials

(4) Informing the groups nf ['any
procedures to be followed ©

(5) Question not attempted

Which step comes under the
programme determination part of
the programme planning process ?
(1) Developing plan of work

(2) Evaluation of the programme
(3) Reconsideration of the programme
(4) Analysis of the situation

(5) Question not attempted
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lnﬁt

107.

108.

81

o HEEH & Hafug RefeRea d @ 99
I HYF Tord & 7

(1) =& wh Avftag wise TE R |
(2) =& farr % &3 v peEE ST R |

(3) 39 39gm faft= dgmres =1 |
wftrm #t fFuife =@ F fore fFn
AR

(4) “wrhfaea” w@ wifem &1 o s

;f'~?aﬂﬂﬁﬂ=ltl

fi= Fo 7T rew 3w S TrgHEE
faepra & ot &1 wdt wm o

wie:
1) ®) > (@ -> (@) - @

(2) B) > (@) > (@) > (@)

(3) () = (d) - (a) = (¢)
@),0) > @ > ©) > @

qfE wm SR § g v
wizhaTd &

(1) 8 (2 4
(3) 6 @ 7
(5) IrwRE S¥

e
[

— — —— —— T — " o — —— ——

106.

107.

108.

Which one of the following
statement related to the “Bloom’s
Taxonomy” is incorrect ?

(1) It is not a hierarchical model.

(2) It is a valuable tool in the field
of education.

(3) It is used to assess learning in a
variety of cognitive levels.

(4) “Affective” is an important
learning domain of this
taxonomy.

(6) Question not attempted

Steps of curriculum development
framework for agricultural higher
education are listed below :

(a) Implement

(b) Identify needs

(¢) Monitor and Evaluate
(d) Development

Select the correct order of steps of
curriculum development by using
the codes given below :

Codes :

(1) (b) = (a) = (d) = ()
2) ) > () > (a) > (d)
3 (b)—> (@) — (@) - ()
(4) () > () —(c)—(a)
(6) Question not attempted

The total no. of cognition levels in
the revised Bloom’s Taxonomy are

(1) 8 2 4
(3) 6 (4) 7
(5) Question not attempted




109, fFe wfs fven 1 “dranr 3t @ | 109,

110.

111.

112,

e & fero fran” & =9 # vfonfye e ?

(1) &.98F  (2) TETELE EE

(3) WETHI TR (4) IFE FHH ARG

(5) i ¥

Fd WRE WERaT SRme %Y e e

™™ ?

(1) 1 3%, 2022 (2) 10 373, 2022

(3) 29 9E, 2020 (4) 1 37ie, 2023

(5) Irwiea e

e o A R | T i & g 2

(a) W dig i fRafy

(b) faftre afit o1 & & ftnfva sgo

(¢) T YR & A iada & |

(d) Faer v @ v faf w1 Iuam
H1 THEE! # |

= fom o wrE 1 39N w0k 9E I

HE;

1) @@WDH (2 (), b))

@) FAD) (@) (a), b)) W)
(5) i 59
g1 1 g-11 & e =6t 3 gfeai
% A2 v o Fie =1 30T 6 GE IW
o
-1 -1
() gfmEmsm (a) s ufEen
e 9 Hi=a
(ii) HTET A (b) 1952
EapE ]
(iii) e - (c) =% feeeht
Tore =dera
(iv) gmfores faren  (d) 1978
HE;
(i) (i) (i) (iv)
() (© @ @O (&
2) () (a) (d) (b)
3 @ @ (© b
4 b @ (@ (@
(5) g W

111.

112. Match

Who defined social education as
“education for life through life and
throughout life” ?

(1) Dr. Naik

(2) Jawaharlal Nehru

(3) Mahatma Gandhi

(4) Abul Kalam Azad

(5) Question not attempted

110. When was the New India Literacy

Programme started ?
(1) 1% April, 2022
(2) 10tk April, 2022
(3) 29tk July, 2020
(4) 1= April, 2023 et
(6) Question not attempted P

Which of the following mful;:e

principle(s) of extension training ?

(a) Effective learning situation

(b) Specific & clearly defined
objectives

(c) Accomplish certain kinds of
educational change

(d) Using only one training method
is effective w

Select the correct answer using:the

codes given below : -

(5 @) and () (2) (@), () and @7

(1) (a) an a), k¥

(3; only (b)  (4) (a), (b),(c)and(d)

(5) Question not attempted

List-I with List-II and

select the correct answer by using

the codes given below the lists :
List-1 List-IT

s

(L
]
-

(i) Adult Education (a) Focus on

(1) Saakshar Bharat (b) 1952

(1i1) National Adult

22

I
1
|
|
!
I
I (iv) Social Education (d) 1978
l
1
|
|

Bureau adult woman

literacy?.>

JJJJJJ

Programme ,

() New Delhi
Education )
Programme

Codes :
(i)
(c)
()

(i) (i) (iv)
@
(@

(b) (a)
(d) (b)
@ @@ (a (@ @)
@ B © @ (@
(5) Question not attempted

(1)
(2)
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118, iR wehrt 1 e deft it wrvwt Fge &
w9 % oft S e 8 2
(1) Frgw (srfefes) T
(2) wrwaitys (IEies) g
(3) w=aET-Ta (Fiw-Tan) Tge
(4) wEm =i Jge
(6) It e

11& Frafefes & @ frg afafs & wwa # gamadt
vy T e fSehiia S e
maﬂﬁmwgmaﬁmm"

(1) i Hee wfifa

" (2) ot e wialy
(3) e um. feeet afufy
(4) weTET T4 HEa affy
(5) raRa ¥

115, @.81.0%. i wv B
(1) wfa (Fgefea) faam s
(2) smefas faaw we
-y (8) T T gfiural
oy (4) Ffard e wr
:_:; (5) gefa we
116, SRS a6t 61 ygaw § Prafafed
U smanfae €
a. W % s 1 wifies geaie
b. gEmHt 3R aE swEER w1 AR A
Haa

. IR st dat = i
w0 d mﬁam#!ﬁﬁqﬁnmﬁmi
£ e

A g e T s |
EEEA A l
¢ ;ﬂ!‘_ I
(1) a—»c—=b—od I
2) a—sbosc—od I
B)b—sa—scod I
4)d—-»a-sb-oec ;

(5) FFFHNE 99

81 23

113!

114.

115.

116.

Which type of leadership style is also
known as participative leadership ?
(1) Autocratic leadership

(2) Democratic leadership

(3) Laissez — Faire leadership

(4) Great Man leadership

(6) Question not attempted

Which of the following committees
suggested the establishment of
“Democratic Decentralized local
Government” system of Panchayati
Raj in India ?

(1) Ashok Mehta Committee

(2) GVK Rao Committee

(3) L.M. Singhvi Committee

(4) Balwant Rai Mehta Committee
(5) Question not attempted

The full form of CDF is

(1) Cumulative Distribution
Funection

(2) Community Distribution Force

(3) Community Development
Facilitator

(4) Compulsory Development
Factor

(5) Question not attempted

Identification of the business

opportunity involves following

steps :

a. Preliminary evaluation of
investment opportunities

b. Market survey of facilities &
human behaviour

c. Selection of product and
services

d. Collection of sufficient
information about proposed
venture

Select the correct order of these

steps by using the codes given below :

Codes:

(1) a=»e—=b—od

(2) a=sb—secod

8) bsa-sc—od

4) d2a->b-oe

(5) Question not attempted




117.

Ty
w0
.y

™

119,

L
o
o)
-
P
)

L)
w
o))
)
P~
&

wrfiert % fare @ o wfenarfl =eE w9 @
TR I L 8, 3 I W HH H § 2
(1) TR UTH T 1 w1

(2) T =

(3) wEAm =W

(4) FTeTEATHT (S -AlaaEaTH)

E51d
(5) e w¥

uiféfied @i vg e (foen) 2
(1) T T 1 T Y

(2) TS WK H1 HEATHS AY

(8) & YR %1 HEEEY! g

(4) T YR F1 Afaeries My

(5) Irgeia W
gefi-1 %1 gfl-11 & fiverm =< ik gt &
gﬁ%ﬁqwﬁzmmmmm
- geft-1 gR-11
(i) TEE-3BH (a) TH A & faf=
&t 3R FamEt
%1 g R |
() e (b) JoEE, wE,
e greur 3ife #
= entan 2 |
(i) | (c) @9F & &Y i
At % FgoTa &I
femman # |
(v) e (d) & wrgfEesand
e T & fon e
FAE
S
(i) (i) (i) (@iv)
() ® @© (@ (a
2) ® @ (@ (a)
3 (@ (@ (a (b
4) (@ (@ O (@
(5) e S

|
|
|
|
|
|
|
T
+
|
|
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117.

118.

119.

At which level of participation,
participants initiate and work on
projects independently ?

(1) Receiving information level

(2) Consultation level

(3) Collaboration level

(4) Self-mobilization level

(6) Question not attempted

Participatory Learning and Action
(PLA) is

(1) a tvpe of qualitative research
(2) a type of quantitative research
(8) a type of correlational research
(4) a type of historical research

(5) Question not attempted

Match List-I with List-II and select
the correct answer by using the
codes given below the lists :

List-I List-I1
(i) Time- (a) Shows various
Trends areas and
resources of a
village
(i1) Preference (b) Shows
Ranking variation in
climate, crops,
nutrition etc.
(iii) Social (¢) Shows how
Mapping things have
changed over
time.
(iv) Seasonal (d) People vote to
Calender select
priorities
Codes :
(i) (@) (iid) (iv)
(1) b @ @ ()
(2) ) @ (@ (a
B (¢ @ (a (b
4 (© (@ @® (@

(6) Question not attempted
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v .

120. FEHETE FEFH % T8d Qe =R

121.

122,

123.

124.

81

T 2= % wreEm § e /dard yeH
e B/8

a. 1R |41

b. 9 9w

c. T

d. qEepe s R

= g T wre 1 I9E F@ g GH IH
T

(1) am@h (2) Fawc

(3) ¥8F a (4) amW@e
(5) g w23

= 9 @ w9 o s @oieEd o

TSR I § e T8 & 2

(1) wehiga am faswm wrdwy

(2) wie ey T I

(3) anfivr ganall & @R F fe
widreo

(4) T THELTOT FISAT

(5) el Sw

HrEmETTe $ea wEae fafiRs a NSDC &
Ty aEEuE B oafeenst & fafvem
Five % e g vee w9 17 7

(1) 28 reean, 2010

(2) 28 ez, 2018

(3) 28 FaTE, 2020

(4) 28 IragET, 2023
(5) e e

g 9 e - -1 4 e &
Teru farfta wemar € mé 2

(1) = famio (2) wiraTer fmfor
(3) e e (4) wg= fmfo
(5) wgwifed S

wivreror 6 T gt fafg SR d R 2
(1) Wt 2) te=t

(3) =A™ (4) Ha=H

(5) 3rwia 5

I
|
|
|

25

120.

121.

122.

123.

1 24‘

Service/services  isfare  provided
through public health infrastructure
under ICDS programme :

a. Referral service

b. Supplementary nutrition

c. Immunization '

d. Pre-school non-formal educatig
Select the correct answer usungi
codes given below :

(1) aand b (2) onlye I:T)
(3) only a (4) aandc 1
(5) Question not attempted

Which programme is not merged

under Swarnjayanti Gram

Swarozgar Yojana ?

(1) Integrated Rural Development
Programme

(2) Saansad Adarsh Gram Yojm;rﬁ:'

(3) Training of Rural Youth for gf
employment

(4) Ganga Kalyan Yojana D
(5) Question not attempted '3
When did Microsoft India Pvt. Ltd.
collaborate with NSDC for

providing digital skills to women ?
(1) 28th Oct., 2010
(2) 28 Qct., 2018
(3) 28th Oct., 2020
(4) 28 Oct., 2023
(5) Question not attempted Ef"J

In Swach Bharat Mission - Phdga-1
the financial assistance is given faf

(1) Home Construection o

(2) Laterine Construction o

(3) Water Harvesting

(4) Road Construction

(5) Question not attempted

Which one is the oldest method of
training ?

(1) Demonstration

(2) Role play

(3) Lecture

(4) Case study

(6) Question not attempted




125, TEqTén 2 FE1-UfiE w1 sHuene # 125. Aspartame is a diapeptide of two

{1} mﬂfﬁqm wm amino acids
(1) Tyrosine and Glutamic acid
(2) weTTee tfbg aun framgenfat= S ;
(2) Aspartic acid and Phenylalanine
(8) et e vemeE | @ T :
ryptophan and Glycine
(4) T e e (4) Phenylalanine and Tyrosine
(5) g ¥ (5) Question not attempted ¢
126. Fof= I =1 399 fFg @ vgY ® | 126. Metanil yellow, is used aé’,i‘,in
e s wqdgma 7 adulterant in which food prodt{c;f_?
(1) & (2) HTE T (1) Saffron ot
(2) Arhar Dal prid
@) wEFda  (4) T e I (3) Mustard Seeds s
(5) A W (4) Red chilli powder

(6) Question not attempted
127, 3refty i & Ao § WiSH 9T 99, | 127, Which  plant pigment has no
#A ¥ ey 9ofs F 1 § FE gEe significant change in colour while

i e a2 cooking in acid and alkaline
Fifratae A medium ? )
(L) @ (1) Carotenoids (2) Betalains™/
(3) TREA  (4) T (3) Chlorophyll (4) Anthocydnin
(5) ITRa ¥ | (5) Question not attempted f:‘-;
33
128. B A Q= Wi § 7 &9 teA T e | 128, Which of the following are moisture
3 retention agents in foods ?
Hraf (1) Humectants
(1) W @) i T (2) Leavening agent
@) TENTHE  (4) TR O (3) Buffering agent
(5) et g9 (4) Flavouring agent

(5) Question not attempted
129, 3TS ) FEA ATED WA FA S AR ?
(1) WEAwa  (2) ¥

[
[ 5]
=]

. Which is the outermost layer .of
cereal grain ? ~J
(1) Aleurcne layer (2) Pericarp’;

|

|
(3) ¥ (4) ypTT | (3 Embryo (4) Endospefm
(5) FitE ¥ | (5) Question not attempted )

130, Fr=r# & fpm wma e it sufeuafa & =mh I 130. Presence of which of the fﬂ]lm;ril;g

o w1 P fFm s asa R 7 | food items forms a stable foam ?
(1) = (2) Wt | (1) Starch (2) Margarine
(3) Ea (4) Frefe | (3) Honey (4) Gelatin
(5) FFTHE W | (5) Question not attempted

o
[ ]
o
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131. 3 (TAERIE) &1 AT (F) & 0 &M
T T I &
(1) FweTEe=
(2) HFAEIIE
(3) wH=H (@)
(4) Frafesam
(5) BTG ¥
183, Fieferfes 3 &+ o wfordl v el
-~ waTAfess snafin %1 v s 2 7
2 (1) ST a9 3 T b & a
(L) e Fifaass $i aifufwa
<7 (2) AP WA &g I o s
= =t b % Ty sifafEm
(3) Wifeifs &9 &g OiferdEes i
w18 e % gy At
(4) gt & &g st siffeass 1
Tererfim <t % arg sfafean
(5) rgea W
133. Fftmaa (A) : 3fz s @ wi fieng
T & o A o8 Al g S 2
~ @ (R) : T HIf¥E F R A
: w4 3 7t f =t F Fo0 "
S TEET AT e A R E
‘v H few e e & v hife
(1) (A)FH2 R) TR |
@) ()T e, R) T2 |
(3) (A) 3 (R) @1 € T (R), (A) =1
wEI AH R |

(4) (A) 3R (R) W&l € wig (R), (A) ®1
TE TR R R |

(6) IFwita 5v

15&%&&&3@33@@3&3&%%
. 79 ¥ it W

H__r,;I foifes s 11 fomefas ama
OO 111, #Afems s IV, wufseites ane

S

Gy LIV I 2) I 1LV
(3) ILILIV,I (& III I, 1V
(6) AT we

—— e e e e e TEE—— T T —— e

131.

132.

133.

134

Browning of bread on toasting is a
classic example of

(1) Caramelization

(2) Dextrinization

(3) Fermentation

(4) Gelatinization

(6) Question not attempted

Which of the following is an
example of enzymatic browning in
vegetables & fruits ?

(1) Reaction of phenol oxidase with
polyphenols to give
orthoquinones.

(2) Reaction of amino acid oxidases
with reducing sugars to give
melanins.

(3) Reaction of polyphenolases with
iron to form polyquinones.

(4) Reaction of amino oxidases with
vitamin-C to give polyquinones.

(6) Question not attempted

Assertion (A) : If the egg floats in
a glass full of water, it is
considered as stale.

Reasoning (R) : Poor quality eggs
float due to the decrease in size
of air cell and loss of moisture.

Choose from the codes given below :

(1) (A) is correct, (R) is wrong.

(2) (A)is wrong, (R) is correct.

(3) (A) and (R) are correct and (R) is
the correct reasoning for (A).

(4) (A) and (R) are correct but (R) is
not the correct reasoning for (A).

(5) Question not attempted

. Arrange the following fatty acids in
the ascending order of unsaturation :
I. Linoleic acid

II. Linolenic acid

I1I. Oleie acid

IV. Arachidonic acid

Codes :
@) EEAV I @) HLLI IV
@ LHLILIV.I & LI, IOLIV

(6) Question not attempted
o




135.

136.

137.

133'

Fr=fafgs 4 8 =9 3 @ 9gred 3mm-3
TR A F B EEE ?

a. HGUE b. vE

c. "Il d. #wEA

e

(1) agd (2) adec

(3) bdec (4) c9d

(5) Fgafd w9

U grFEtel St HTST (3= aM99™ %A
way) fafa 2

(1) 100 °C W 1 HFvE & fom
(2) 63 °C T 30 e & fom
(3) 89°C W 10 ¥HvE & g
(4) 72 °C W 15 d%vE & o

(5) WA T

ferer 2t qu 3 | @e UE. . 0%, i HE
?

(1) 3% 3971 991 8.5% TH.T4.T%.
(2) 1.5% =971 741 9% TH.TA.TH.
(3) 4.5% =47 79T 8.5% TH.U4.TF.
(4) 3.0% =471 741 8.0% TH.UH.T%.
(5) Sgeiia W

HH |1 % TR O H ITH AR ?
(1) (2) e

(3) I (4) 3™

(5) wlta ¥

28

135.

136.

1 371

Which of the following foods are rich
sources of omega-3 fatty acids ?

a. Walnuts b. Eggs

c. Fish d. Butter
Codes : f

(1) aandd (2) a a:@-t;

(8) bandc @) ¢ auf;tg

(5) Question not attempted '

High Temperature Short Time
(HTST) method of milk

pasteurization is carried out at
(1) 100 °C for 1 second
(2) 63 °C for 30 minutes
(3) 89°C for 10 seconds

(4) 72 °C for 15 seconds (;:';
(5) Question not attempted "

W
~
-

™

Fat and SNF content of single toned
milk is

(1) 3% Fat and 8.5% SNF

(2) 1.5% Fat and 9% SNF

(3) 4.5% Fat and 8.5% SNﬁTf;-

(4) 8.0% Fat and 8.0% SNF}-

=

(5) Question not attampte& '

138. Which fruit is a rich source of iron ?

(1) Dates (2) Banana
(3) Grapes (4) Mango
(5) Question not attempted
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139. foFm =d # wEew feifaa e 6
T s ot 7

(1) 1982 (2) 1986
(3) 1962 (4) 1980
(5) FFFwita 5w

140. gu &1 e gera: e A s ?
¢ 4 (1) FEH AT
@) H AR
() e
) S
(6) Fgwia s

141, aofi-1 & gawsfial w1 arofi-11
ToranaAt & e =L

grft-1 anft-11
cy() SRR (a) TRueE i
;J wifes
;:i (i) = (b) i e
o ;(ui) Hieg (c) #tm I dE
(iv) Ufearmiea  (d) 3aft fevam
wa..
$:
() (i) (i) (@v)
@ @ (o (a) (b)
@ @ @ @ o
DE @ @ © ©
L0 @ © ® @
(5) ST
81

139. Codex Alimentarius commission
was established in the year

(1) 1982 (2) 1986
(3) 1962 (4) 1980
(5) Question not attempted

140. Which of the following is major

protein of milk ?

(1) a-lactalbumin

(2) P-lactoglobulin

(3) Serum albumin

(4) Casein

(5) Question not attempted

141. Match the following micro
organisms in List-1 with their
functions in List-II :

List-1 List-1I
(i) Lactobacillus  (a) Ripening
lactis cheeses
(1) Yeast (b) Meat
fermentation
(iii) Moulds (¢) Beer and
bread
(iv) Pediococcus sp. (d) Dairy
fermentation
Codes:
(i) (i) (i) (iv)
1) @@ @© (@ @
(2) (@ @ (@ O
3 d (@ (© (b
4) (a () (b (d)

(5) Question not attempted




142. HACCP ¥ 3w7eA o # U5 & &1 farg

? ol ==s & Ay =) fafE
HHAT R 7

(1) Frfewa vt fag

(2) Sifgw smwem fag

(3) ia faverm fag

(4) fonfeshe wgie farg

(5) TG 5

143. F=fen 6 wifiwes fufs = 72 50 J aam
e #
(1) =g (2) ufagm
(3) WBEAEY (4) T
(5) FITHA T

144, U% @Ta do1 gfae@ # $19 8 3yeE w4 8
o ot @ Il 8 A A= S g 7
(1) 98 &rma (2) Wt it AFTE
(3) FHIHI@AFE  (4) witEd @rma
(5) SrgwhE T

145. g=ft-1 & few wu gesiat &t g=t-11 §

-1 gt-11
(a) ETEHRET (i) ufew ()
(b) fmren (ii) ftEmafam

(c) FeifEam  (iii) #A M
(d) Sersa (iv) Btersla

(e) T (v) 3= w8
(T%TEE)
(vi) wigferm
%2

(a) (b) (c) (d) (e)
(1 @@ () @ () (W
2) (v (u) @) ) Gav)
3 m @O ) @ )
4 @ (v) (vi) @) (i)
(5) ha w

e —— e — — o — ——

142. In HACCP, which is the point in the

143.

144.

145.

production line where risk to
hygiene may be put under control ?
(1) Critical analysis point

(2) Risk assessment point

(3) Central assay point

(4) Critical control point J

(5) Question not attempted -

Enzyme capable of dlssulvmﬁ the
cell wall of bacteria is

(1) Lipase (2) Avidin

(3) Lysozyme  (4) Ovoglobulin
(5) Question not attempted

In a food service establishment,
which are the costs that cannot be
directly related with food products
and represent the indirect expense&
of an establishment ? w
(1) Overhead costs
(2) Material costs 53

(3) Employee costs e
(4) Variable costs on

(5) Question not attempted

Match the micro-organisms given in
List-I with the food borne disease
condition in List-11 :

List-1 List - I1
(a) Salmonella (i) Dysentery
(bacillary)

(b) Shigella (i) Amoebiasis
(e) Clostridium (iii) Tuberculgsis
(d) Protozoa (iv) Hepaﬂﬁ'
(e) Virus (v) Entericféver
{t}rphm.a'}
(vi) Botulism
Codes :

(@) (b) (c) (d) (e)

(1) @G » @ (vi) (i)

(2) (v) Gi) @) (vi) (iv)

@ v @ @) @ Gv)

4 @ (v (w) @G) Gi)

(6) Question not attempted
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146. Give correct sequence of steps in
formal bid buying in food service
institutions :

a. Write specifications

b. Develop purchase order
c¢. Identify needs

d. Award contract

e. Issue bid requests and evaluate bids
Codes :

(1) ¢,a,b,eand d

(2) a,c,d,band e

(3) e,b,a,cand d

(4) b,a,c,eand d

(56) Question not attempted

147. According to the “Dietary guidelines

for Indians” by ICMR-NIN (2024) ‘my

plate for the day' recommends that

he per day intake of cereals should
wfefen s &1 59 T FaA1 1 e EE limi
. mited to what percent of the total
e e it g1 =iRg 7 energy ?
- (1) 60% (2) 45% (1) 60% (2) 45%
b |‘5- (3) 50% (4) T70% (3) 50% (4) 70%
S (5) ERE = (5) Question not attempted
148, ar Wiom dand el § @ f59 @ | 148, Travel food services belong to which
Ta el g=ta g 7 of the following food service styles ?
(1) F=rfes (2) FEg=TiEs (1) Formal (2) Informal
(3) A& (4) -t (3) Vending (4) Semiformal
(5) IR (5) Question not attempted
149. 51 T JTavash IHT 7] 1 HH H Bl | 149, The deficiency of essential fatty
33 2 acids in human beings causes
oy (1) M (2) wmgafi (1) Gout (2) Lipemia
0 (8) Prereni (4) feedendean (3) Phrynoderma (4) Steatorrhoea
G (5) FIE S : (5) Question not attempted
N : |
150. ﬁ:{ﬁ%ﬂq;:}; _' aﬂzﬁl i"ﬁ‘.’“* £ | 1560. Which of the following menu can be
U3 = Wie, 331 A1 FAH | offered as an a la carte, table d'hote
w9 a7 foam o wea & 7R amweR W or a combination menu, based on
THIH SEET g 36T 39 e e | the choice of the customers & is
27 | uauﬂ'::-.-ulji h;a&d by small catering
1) fore 92) T | esta ent ?
EB; aﬁqw E 4§ g.aﬁ | (1) Single use (2) DuJuor
) aﬂ?lﬁ?lm | (3) Cyclic (4) Buffet
(5) Question not attempted
81 3 (n]
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